BID RESULTS

SOLICITATION NO. W912P8-07-B-0001

MISSISSPPI RIVER, BATON ROUGE TO GULF OF MEXICO SOUTHWEST PASS AND CUBIT'S GAP, HOPPER DREDGE RENTAL CONTRACT NO. 1-2007, PLAQUEMINES PARISH, LOUISIANA

3-BIDDERS

1. BEAN STUYVESANT	(LOT 3)	(L)	\$2,755,000.00	APPARENT LOW BIDDER
2. WEEKS MARINE	(LOT 5)	(L)	\$4,483,485.00	
3. GREAT LAKES DREDGE & DOCK C	O (LOT 6)	(L)	\$2,829,500.00	

AB	STRACT OF OFFERS - CONSTRU		CITATION N W912P8-	UMBER 07-B-0001	2. DATE ISSI 25 Oc	UED t 2006	3. DATE 0	PENED lan 2007	PAGE OF	8 PAGE	ES			
PO B	IG OFFICE RMY ENGINEER DISTRICT, NOD OX 60267 ORLEANS, LA 70160-0267				NAME AND TI	TLE OF CERTI	FYING OFFICIA Aline							
	ESTRICTED	and rec	orded on th	ave opened, read, is abstract all esponse to this	SIGNATURE									
			solicitat	ion.	· •									
5. PROJE	CT TITLE				ENT ESTIMATE complete D, E, and F)		NO. 1	9. C	FFERS	NO. 2		NO. 3		
	pi River, Baton Rouge to Gulf of Me I Cubit's Gap, Hopper Dredge Renta			A. HIRED	LABOR	Bean St	A. OFFEROR Bean Stuyvesant			B. OFFEROR			B. OFFEROR	
Pump Su	07, Plaquemines Parish, LA, Lot 3, action, 6,300 cy Nominal Hopper Ca				ONABLE CONTRACT ut Profit)	B. BID SECU P.O. Box	x 51118		B. BID SECUR	TY (Type and	amount)	B. BID SECURIT	B. BID SECURITY (Type and amount)	
6. NUMB	ER OF AMENDMENTS ISSUED 0002				ONABLE CONTRACT ng Profit)	C. AMENDME New Orle	eans, LA 70)151	C. AMENDMEN				C. AMENDMENTS ACKNOWLEDGED	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNIT PRICE	D. UNIT PRICE	E. ESTIMATED AMOUNT	E. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	Mobilization & Demobilization of Hopper Dredge & All Attendant Plant	01	LS	xxxx	122,400.00	xxxx	xxxx 235,000.00							
0002	Dredging – Rental of a trailing-type hopper dredge with the following	720	Hour	2,563	1,845,360.00	2,800	2,800 2,016,000.00							
	characteristics: Pump Suction ID = 33.5 inches, Hopper Capacity =													
	6,300 cy,Dragarm(s)=2 dragarm(s) Including all attendant plant.													
Option 0003	Dredging – Same plant listed in Item No. 0002 of this bid lot.	180	Hour	2,563	461,340.00	2,800 504,000								
	TOTAL	XXXX	XXX X	xxxx	2,429,100.00	XXXX	XXXX 2,755,000.00		XXXX			XXXX		

ABSTRACT OF OFFERS - CONSTRUCTION			SOLICITATION NUMBER W912P8-07-B-0001			2. DATE ISS 25 Oc	UED t 2006	3. DATE OF 05 J	PENED an 2007	PAGE OF 8 PAGE	S		
US A PO B	IG OFFICE RMY ENGINEER DISTRICT, NOD OX 60267 ORLEANS, LA 70160-0267		ave opened, read,	NAME AND TI	TLE OF CERTII	<u>-</u>							
UNR	ESTRICTED		eceived in re	is abstract all esponse to this	SIGNATURE								
5. PROJE	CT TITLE				ENT ESTIMATE		NO 4						
	pi River, Baton Rouge to Gulf of Me I Cubit's Gap, Hopper Dredge Renta		(Check A	A. HIRED	complete D, E, and F) LABOR	A. OFFEROR	NO. 1		B. OFFEROR Great Lak	NO. 2 tes Dredge and Dock	B. OFFEROR	NO. 3 B. OFFEROR	
	07, Plaquemines Parish, LA, Lot 6, action, 3,600 cy Nominal Hopper Ca				DNABLE CONTRACT ut Profit)	B. BID SECU	RITY (Type and	l amount)	B. BID SECUR 2122 York	ITY (Type and amount) Road	B. BID SECURI	B. BID SECURITY (Type and amount)	
6. NUMB	ER OF AMENDMENTS ISSUED 0002				DNABLE CONTRACT	C. AMENDMI	ENTS ACKNOW	/LEDGED		NTS ACKNOWLEDGED 1, IL 60523	C. AMENDMEN	C. AMENDMENTS ACKNOWLEDGED	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNIT PRICE	D. UNIT PRICE	E. ESTIMATED AMOUNT	F. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	Mobilization & Demobilization of Hopper Dredge & All Attendant Plant	01	LS						xxxx	295,000.00			
0002	Dredging – Rental of a trailing-type hopper dredge with the following	1096	Hour						1,850	2,027,600.00			
	characteristics: Pump Suction ID = 27 inches, Hopper Capacity =												
	3,600 cy,Dragarm(s)=2 dragarm(s) Including all attendant plant.												
Option 0003	Dredging – Same plant listed in Item No. 0002 of this bid lot.	274	Hour						1,850	506,900			
	TOTAL	XXXX	XXX	XXXX		XXXX	XXXX		XXXX	2,829,500.00	XXXX		

ABSTRACT OF OFFERS - CONSTRUCTION				ICITATION N W912P8-	UMBER 07-B-0001	2. DATE ISSI 25 Oc	UED t 2006	3. DATE O	PENED Jan 2007					
4. ISSUIN					NAME AND TITLE OF CERTIFYING OFFICIAL (TYPE)						-			
	RMY ENGINEER DISTRICT, NOD OX 60267						Aline							
_	ORLEANS, LA 70160-0267			ave opened, read, is abstract all										
UNRESTRICTED					esponse to this	SIGNATURE				DATE SIGI	NED			
5. PROJE	ECT TITLE		8. (GOVERNM	ENT ESTIMATE	9. OFFERS						-		
			(Check A, B or C and complete D, E, and F)			NO. 1						NO. 3		
	opi River, Baton Rouge to Gulf of Me d Cubit's Gap, Hopper Dredge Rent			A. HIRED	LABOR	A. OFFEROR			B. OFFEROR			B. OFFEROR Weeks Marine		
	07, Plaquemines Parish, LA, Lot 5, uction, 4,000 cy Nominal Hopper Ca				ONABLE CONTRACT ut Profit)	B. BID SECU	RITY (Type an	d amount)	B. BID SECUR	ITY (Type and	amount)		B. BID SECURITY (Type and amount) 304 Gaille Drive	
6. NUMBI	ER OF AMENDMENTS ISSUED 0002			C. REASO	ONABLE CONTRACT ing Profit)	C. AMENDME	ENTS ACKNOV	WLEDGED	C. AMENDMEN	ITS ACKNOW	LEDGED	C. AMENDMENTS ACKNOWLEDGED Covington, LA 70433		
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNIT PRICE	D. UNIT PRICE	E. ESTIMATED AMOUNT	G. ESTIM AMOUN		D. UNIT PRICE	E. ESTIM AMOU		D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	Mobilization & Demobilization of Hopper Dredge & All Attendant Plant	01	LS									xxxx	445,000.00	
0002	Dredging – Rental of a trailing-type hopper dredge with the following	889	Hour									3,635	3,231,515.00	
-	characteristics: Pump Suction ID = 28 inches, Hopper Capacity =													
	4,000 cy,Dragarm(s)=2 dragarm(s) Including all attendant plant.													
Option 0003	Dredging – Same plant listed in Item No. 0002 of this bid lot.	222	Hour									3,635	806,970.00	
	TOTAL	XXXX	XXX	XXXX		XXXX	xxxx		XXXX			XXXX	4,483,485.00	

NSN 7540-01-150-0981 501419-101 NOTE: If more than two offers are received, continue on OF 1419A. **OPTIONAL FORM 1419 (11-88) Prescribed by GSA - FAR (48 CFR) 53.236-1**